Transfers Report

This report contains the transfers results.

Contest Name	Ward 10 Anderston-City-Yorkhill	
Valid Votes		6,010
Positions to be Filled		4
Quota		1,203

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Eva BOLANDER	Scottish National Party (SNP)		1,591
Philip BRAAT	Glasgow Labour		1,328
Gerry CREECHAN	Independent		55
Faten HAMEED	Glasgow Labour		385
James HARRISON	Scottish Liberal Democrats		151
Gordon KEANE	Independent		30
Christy MEARNS	Scottish Green Party		1,101
Angus MILLAR	Scottish National Party (SNP)		775
Cameron STEWART	Scottish Conservative and Unionist		594
		Total	6,010

Candidate Eva BOLANDER Elected with 1,591 votes, being in excess of the quota of 1,203 Candidate Philip BRAAT Elected with 1,328 votes, being in excess of the quota of 1,203

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Eva BOLANDER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eva BOLANDER	0	0.00000	0.00000
Transfer to Philip BRAAT	0	0.00000	0.00000
Transfer to Gerry CREECHAN	28	0.24387	6.82836
Transfer to Faten HAMEED	41	0.24387	9.99867
Transfer to James HARRISON	16	0.24387	3.90192
Transfer to Gordon KEANE	8	0.24387	1.95096
Transfer to Christy MEARNS	185	0.24387	45.11595
Transfer to Angus MILLAR	1,220	0.24387	297.52140
Transfer to Cameron STEWART	13	0.24387	3.17031
Value of non-transferable ballot papers			19.51243
	Total		388.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Philip BRAAT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eva BOLANDER	0	0.00000	0.00000
Transfer to Philip BRAAT	0	0.00000	0.00000
Transfer to Gerry CREECHAN	34	0.09412	3.20008
Transfer to Faten HAMEED	800	0.09412	75.29600
Transfer to James HARRISON	56	0.09412	5.27072
Transfer to Gordon KEANE	4	0.09412	0.37648
Transfer to Christy MEARNS	100	0.09412	9.41200
Transfer to Angus MILLAR	63	0.09412	5.92956
Transfer to Cameron STEWART	77	0.09412	7.24724
Value of non-transferable ballot papers			18.26792
	Total		125.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Gordon KEANE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eva BOLANDER	0	0.00000	0.00000
Transfer to Philip BRAAT	0	0.00000	0.00000
Transfer to Gerry CREECHAN	2	0.09412	0.18824
Transfer to Gerry CREECHAN	1	0.24387	0.24387
Transfer to Gerry CREECHAN	11	1.00000	11.00000
Transfer to Faten HAMEED	2	1.00000	2.00000
Transfer to James HARRISON	2	1.00000	2.00000
Transfer to James HARRISON	1	0.24387	0.24387
Transfer to Christy MEARNS	2	0.24387	0.48774
Transfer to Christy MEARNS	5	1.00000	5.00000
Transfer to Angus MILLAR	2	1.00000	2.00000
Transfer to Angus MILLAR	2	0.24387	0.48774
Transfer to Cameron STEWART	3	1.00000	3.00000
Transfer to Cameron STEWART	1	0.09412	0.09412
Value of non-transferable ballot papers			5.58186
	Total		32.32744

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Gerry CREECHAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eva BOLANDER	0	0.00000	0.00000
Transfer to Philip BRAAT	0	0.00000	0.00000
Transfer to Faten HAMEED	2	1.00000	2.00000
Transfer to Faten HAMEED	13	0.09412	1.22356
Transfer to Faten HAMEED	2	0.24387	0.48774
Transfer to James HARRISON	1	0.24387	0.24387
Transfer to James HARRISON	1	0.09412	0.09412
Transfer to James HARRISON	6	1.00000	6.00000
Transfer to Gordon KEANE	0	0.00000	0.00000
Transfer to Christy MEARNS	25	1.00000	25.00000
Transfer to Christy MEARNS	3	0.09412	0.28236
Transfer to Christy MEARNS	5	0.24387	1.21935
Transfer to Angus MILLAR	8	0.24387	1.95096
Transfer to Angus MILLAR	5	0.09412	0.47060
Transfer to Angus MILLAR	7	1.00000	7.00000
Transfer to Cameron STEWART	13	1.00000	13.00000
Transfer to Cameron STEWART	3	0.09412	0.28236
Value of non-transferable ballot papers			17.20563
	Total		76.46055

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of James HARRISON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eva BOLANDER	0	0.00000	0.00000
Transfer to Philip BRAAT	0	0.00000	0.00000
Transfer to Gerry CREECHAN	0	0.00000	0.00000
Transfer to Faten HAMEED	1	0.24387	0.24387
Transfer to Faten HAMEED	13	0.09412	1.22356
Transfer to Faten HAMEED	33	1.00000	33.00000
Transfer to Gordon KEANE	0	0.00000	0.00000
Transfer to Christy MEARNS	6	0.24387	1.46322
Transfer to Christy MEARNS	64	1.00000	64.00000
Transfer to Christy MEARNS	14	0.09412	1.31768
Transfer to Angus MILLAR	3	0.09412	0.28236
Transfer to Angus MILLAR	7	1.00000	7.00000
Transfer to Angus MILLAR	3	0.24387	0.73161
Transfer to Cameron STEWART	27	1.00000	27.00000
Transfer to Cameron STEWART	15	0.09412	1.41180
Value of non-transferable ballot papers			31.08040
N.D. The figures may not odd due to reunding	Total		168.75450

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Christy MEARNS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eva BOLANDER	0	0.00000	0.00000
Transfer to Philip BRAAT	0	0.00000	0.00000
Transfer to Gerry CREECHAN	0	0.00000	0.00000
Transfer to Faten HAMEED	233	0.04089	9.52737
Transfer to Faten HAMEED	36	0.00384	0.13824
Transfer to Faten HAMEED	9	0.00997	0.08973
Transfer to James HARRISON	0	0.00000	0.00000
Transfer to Gordon KEANE	0	0.00000	0.00000
Transfer to Christy MEARNS	0	0.00000	0.00000
Transfer to Angus MILLAR	669	0.04089	27.35541
Transfer to Angus MILLAR	148	0.00997	1.47556
Transfer to Angus MILLAR	19	0.00384	0.07296
Transfer to Cameron STEWART	9	0.00384	0.03456
Transfer to Cameron STEWART	1	0.00997	0.00997
Transfer to Cameron STEWART	39	0.04089	1.59471
Value of non-transferable ballot papers			10.99979
N.P. The figures may not add due to rounding	Total		51.29830

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Faten HAMEED

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eva BOLANDER	0	0.00000	0.00000
Transfer to Philip BRAAT	0	0.00000	0.00000
Transfer to Gerry CREECHAN	0	0.00000	0.00000
Transfer to James HARRISON	0	0.00000	0.00000
Transfer to Gordon KEANE	0	0.00000	0.00000
Transfer to Christy MEARNS	0	0.00000	0.00000
Transfer to Angus MILLAR	74	1.00000	74.00000
Transfer to Angus MILLAR	14	0.00384	0.05376
Transfer to Angus MILLAR	6	0.00997	0.05982
Transfer to Angus MILLAR	90	0.04089	3.68010
Transfer to Angus MILLAR	128	0.09412	12.04736
Transfer to Angus MILLAR	29	0.24387	7.07223
Transfer to Cameron STEWART	2	0.24387	0.48774
Transfer to Cameron STEWART	158	0.09412	14.87096
Transfer to Cameron STEWART	12	0.04089	0.49068
Transfer to Cameron STEWART	2	0.00384	0.00768
Transfer to Cameron STEWART	50	1.00000	50.00000
Value of non-transferable ballot papers			357.45841
	Total		520.22874